

**SUGARCREEK TOWNSHIP
RESOLUTION NO. 2014.12.15.07**

IN RE: Awarding of Bid Contract for the Clyo Road Phase II Project

WHEREAS, Clyo Road Phase II project is of great importance to economic development in Sugarcreek Township and Greene County, and;

WHEREAS, all design and engineering for the project is complete and ready for construction, and;

WHEREAS, the Greene County Engineer's Office advertised and received bids for the project, and;

WHEREAS, it is the recommendation of the Greene County Engineer's Office that the bid be awarded to Eagle Bridge Co. as they submitted the lowest and best bid (see attached), and;

NOW THEREFORE, BE IT RESOLVED, this Board of Sugarcreek Township Trustees hereby awards the contract for the Clyo Road Phase II Project to Eagle Bridge Co.



Scott W. Bryant, Chairperson



Nadine S. Daugherty, Vice Chairperson



Michael E. Pittman, Trustee



Theodore L. Hodson, Fiscal Officer



ROBERT N. GEYER, P.E., P.S.

615 Dayton - Xenia Road
Xenia, Ohio 45385-2697
Office (937) 562-7500
Fax (937) 562-7510

GREENE COUNTY ENGINEER

'14 DEC 9 AM 11:05

December 8, 2014

Ms. Nadine Daugherty, Mr. Michael Pittman, Mr. Scott Bryant
Sugar creek Township Trustees
2090 Ferry Rd
Sugar creek Township, OH 45305

Re: Cloy Rd Phase II Project
Bid Award Recommendation

Dear Trustees,

After review of the bids for the above project, I have concluded that the bid from Eagle Bridge Co. is the lowest and best. I recommend you award the project to them for construction. A bid tab is attached for you to view.

I have received the Notice to Proceed back from OPWC; therefore you can pass a resolution to award the contract. I will also be sending you a standard contract to be signed by the Trustees and Fiscal Officer once I receive it back from the County prosecutor who is currently reviewing it. It must then be sent to the contractor for their signature. I will also be scheduling a preconstruction meeting in the near future. I will coordinate with Barry and/or Tony on this.

Should you have any questions, please do not hesitate to contact this office.

Thank you,

Luke Trubee, P.E.
Deputy Engineer

cc: Barry Tiffany, Sugar creek Township Administrator

Ciyo Rd Phase II Improvement Project RE BID

BID TAB
page 1

Eagle Bridge Belgray U Deweese RB Jergens J&J Schlaegel

2

3

4

5

Item No.	DESCRIPTION	EST. QUANTITY	UNIT	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
1	Roadway										
201	Clearing and Grubbing	1	LS	\$10,000.00	\$10,000.00	\$15,000.00	\$15,000.00	\$8,300.00	\$8,300.00	\$35,500.00	\$35,500.00
202	Pipe Removed, 24" and under	660	FT	\$20.00	\$13,200.00	\$6.00	\$3,960.00	\$13.00	\$8,580.00	\$15.00	\$9,900.00
3	Rock Channel Prot. Removed	1,25	SF	\$1,500.00	\$1,875.00	\$6.00	\$7,500.00	\$5.00	\$6,250.00	\$5.00	\$6,250.00
4	Curb Removed	2,684	FT	\$3.50	\$9,394.00	\$4.00	\$10,736.00	\$3.50	\$9,394.00	\$3.50	\$9,394.00
5	Curb Ramps Removed	2	EACH	\$150.00	\$300.00	\$300.00	\$600.00	\$150.00	\$300.00	\$150.00	\$300.00
6	Sidewalk Removed	50	SF	\$5.00	\$250.00	\$3.00	\$150.00	\$3.00	\$150.00	\$2.00	\$100.00
7	Pavement Removed	5,191	SY	\$10.00	\$51,910.00	\$10.00	\$51,910.00	\$5.00	\$25,955.00	\$8.75	\$45,421.25
8	Concrete Median Removed	291	SF	\$3.50	\$1,018.50	\$2.50	\$727.50	\$3.00	\$873.00	\$4.20	\$1,222.20
9	Pavement Removed (drives)w/s	1,165	SF	\$2.25	\$2,621.25	\$1.25	\$1,456.25	\$2.00	\$2,330.00	\$1.00	\$1,165.00
10	Retaining Wall Removed	2	EACH	\$500.00	\$1,000.00	\$800.00	\$1,600.00	\$500.00	\$1,000.00	\$785.95	\$1,571.90
11	Curb Inlet/C.B. Removed	7	EACH	\$200.00	\$1,400.00	\$350.00	\$2,450.00	\$250.00	\$1,750.00	\$326.50	\$2,285.50
12	Misc. Removal: Sign remove/reset	1	EACH	\$2,000.00	\$2,000.00	\$1,500.00	\$1,500.00	\$1,000.00	\$1,000.00	\$1,683.50	\$1,683.50
13	Excavation	7,025	CY	\$10.50	\$73,762.50	\$12.00	\$84,300.00	\$11.00	\$77,275.00	\$15.90	\$111,697.50
14	Embankment	6,589	CY	\$10.00	\$65,890.00	\$7.00	\$46,123.00	\$11.00	\$72,479.00	\$5.85	\$37,375.65
15	Lime Stabilized Subgrade (5% lime) #	14,000	SY	\$5.25	\$73,500.00	\$8.50	\$119,000.00	\$6.50	\$91,000.00	\$5.80	\$81,200.00
16	Excavation for Undercutting #	100	CY	\$15.00	\$1,500.00	\$15.00	\$1,500.00	\$11.00	\$1,100.00	\$18.90	\$1,890.00
17	Embankment for Undercutting #	100	CY	\$15.00	\$1,500.00	\$28.00	\$2,800.00	\$32.00	\$3,200.00	\$31.65	\$3,165.00
18	Geotextile Fabric #	14,000	SY	\$0.60	\$8,400.00	\$1.00	\$14,000.00	\$0.75	\$10,500.00	\$1.15	\$16,100.00
19	Temporary Filter Fabric Fence	7,800	FT	\$1.50	\$11,700.00	\$1.75	\$13,650.00	\$1.50	\$11,700.00	\$1.65	\$12,870.00
20	Inlet Protection	33	EACH	\$235.00	\$7,755.00	\$4.75	\$156.75	\$4.20	\$138.60	\$4.30	\$141.90
21	4" Concrete Walk	28,179	SF	\$4.00	\$112,716.00	\$4.75	\$133,852.25	\$4.20	\$118,351.80	\$4.30	\$121,169.70
22	Curb Ramp, Type A1	20	EACH	\$350.00	\$7,000.00	\$500.00	\$10,000.00	\$500.00	\$10,000.00	\$441.40	\$8,828.00
23	SPEC Tied Block Mat Channel Liner #	600	SF	\$4.00	\$2,400.00	\$7.00	\$4,200.00	\$6.00	\$3,600.00	\$4.95	\$2,970.00
24	SPEC Patching Concrete Surfaces, as per plan #	200	SF	\$20.00	\$4,000.00	\$10.00	\$2,000.00	\$7.00	\$1,400.00	\$9.55	\$1,910.00
25	SPEC Reinforced Modular Retaining Wall	335	SF	\$35.00	\$11,725.00	\$40.00	\$13,400.00	\$40.00	\$13,400.00	\$37.30	\$12,495.50
26	Roadway Pavement										
204	Subgrade Compaction	14,301	SY	\$1.25	\$17,876.25	\$1.50	\$21,451.50	\$1.50	\$21,451.50	\$1.10	\$15,731.10
27	Proof Rolling	16	HOURL	\$125.00	\$2,000.00	\$125.00	\$2,000.00	\$80.00	\$1,280.00	\$83.05	\$1,328.80
28	Asphalt Concrete Base, PG64-22	2,053	CY	\$116.00	\$238,148.00	\$125.00	\$256,625.00	\$114.00	\$234,042.00	\$122.00	\$250,466.00
29	Aggregate Base	3,973	CY	\$37.00	\$147,001.00	\$40.00	\$158,920.00	\$36.00	\$143,028.00	\$33.65	\$133,691.45
30	Tack Coat	872	GAL	\$2.00	\$1,744.00	\$2.50	\$2,180.00	\$2.45	\$2,136.40	\$2.60	\$2,267.20
31	Asphalt Conc. Int. Course, Type 2, PG64-22	574	CY	\$130.00	\$74,620.00	\$133.00	\$76,342.00	\$130.00	\$74,620.00	\$139.10	\$79,843.40
32	Asphalt Conc. Surf. Course, Type 1, PG64-22	413	CY	\$156.00	\$64,428.00	\$169.00	\$69,797.00	\$165.00	\$68,145.00	\$176.55	\$72,915.15
33	Comb. Curb and Gutter, Type 2	7,930	FT	\$12.50	\$99,125.00	\$17.00	\$134,810.00	\$11.50	\$91,195.00	\$12.25	\$97,142.50
34	ODOT Curb Type 6	46	FT	\$20.00	\$920.00	\$30.00	\$1,380.00	\$30.00	\$1,380.00	\$20.25	\$931.50
35	Concrete Median	1,466	SF	\$6.30	\$9,235.80	\$10.00	\$14,660.00	\$10.00	\$14,660.00	\$9.55	\$14,000.30
36	10 FT Trail Pavement										
204	Subgrade Compaction	2,438	SY	\$1.50	\$3,657.00	\$2.00	\$4,876.00	\$1.50	\$3,657.00	\$1.10	\$2,681.80
37	Proof Rolling	2	HOURL	\$125.00	\$250.00	\$125.00	\$250.00	\$80.00	\$160.00	\$83.05	\$166.10
38	Aggregate Base	406	CY	\$45.00	\$18,270.00	\$45.00	\$18,270.00	\$40.00	\$16,240.00	\$41.30	\$16,767.80
39	Tack Coat	183	GAL	\$2.00	\$366.00	\$2.50	\$457.50	\$2.45	\$448.35	\$2.60	\$475.80
40	Asphalt Conc. Int. Course, Type 2, PG64-22	119	CY	\$140.00	\$16,660.00	\$175.00	\$20,825.00	\$170.00	\$20,230.00	\$181.90	\$21,646.10
41	Asphalt Conc. Surf. Course, Type 1, PG64-22	85	CY	\$170.00	\$14,450.00	\$210.00	\$17,850.00	\$210.00	\$17,850.00	\$224.75	\$19,103.75
42	Rock Channel Protection, Type C w/filter	45	CY	\$65.00	\$2,925.00	\$65.00	\$2,925.00	\$85.00	\$3,825.00	\$75.20	\$3,384.00
43	Rock Channel Protection, Type A w/filter	26	CY	\$85.00	\$2,210.00	\$70.00	\$1,820.00	\$80.00	\$2,080.00	\$80.65	\$2,096.90
44	Seeding and Mulching	12,003	SY	\$1.50	\$18,004.50	\$1.00	\$12,003.00	\$0.90	\$10,802.70	\$0.65	\$7,801.95
45	Repair Seeding and Mulching	4,500	SY	\$0.25	\$1,125.00	\$0.25	\$1,125.00	\$0.50	\$2,250.00	\$0.55	\$2,475.00
46	Commercial Fertilizer	2	TON	\$500.00	\$1,000.00	\$500.00	\$1,000.00	\$500.00	\$500.00	\$370.10	\$740.20
47	Water	80	M GAL	\$10.00	\$800.00	\$800.00	\$800.00	\$1.00	\$80.00	\$5.30	\$424.00
48	Erosion Control	5,000	EACH	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00
49	SWPP	1	LS	\$3,250.00	\$3,250.00	\$4,000.00	\$4,000.00	\$7,500.00	\$7,500.00	\$7,991.00	\$7,991.00

Clyo Rd Phase II Improvement Project RE BID

BID TAB
page 2

6 Massana Construction

7 Kelchner

8 Sumesis Construction

9 Barrett Paving

10 John R. Jurgensen

Item No.	DESCRIPTION	EST. QUANTITY	UNIT	Unit Price	Total								
	Roadway												
201	Clearing and Grubbing	1	LS	\$32,325.00	\$32,325.00	\$5,410.00	\$5,410.00	\$11,700.00	\$11,700.00	\$22,500.00	\$22,500.00	\$18,000.00	\$18,000.00
202	Pipe Removed, 24" and under	660	FT	\$18.54	\$12,236.40	\$21.00	\$13,860.00	\$9.60	\$6,336.00	\$11.00	\$7,260.00	\$16.00	\$10,560.00
202	Rock Channel Prot. Removed	125	SF	\$67.99	\$8,484.75	\$3.00	\$375.00	\$2.20	\$275.00	\$5.50	\$687.50	\$1.375.00	\$1,717.50
202	Curb Removed	2,684	FT	\$3.85	\$10,333.40	\$7.00	\$18,788.00	\$4.00	\$10,736.00	\$5.75	\$15,433.00	\$5.00	\$13,420.00
202	Curb Ramp Removed	2	EACH	\$309.32	\$618.64	\$240.00	\$480.00	\$84.00	\$168.00	\$150.00	\$300.00	\$145.00	\$290.00
202	Sidewalk Removed	50	SF	\$9.79	\$489.55	\$2.50	\$125.00	\$4.00	\$200.00	\$5.00	\$250.00	\$6.00	\$300.00
202	Pavement Removed	5,191	SY	\$7.05	\$36,596.55	\$7.25	\$37,634.75	\$10.00	\$51,910.00	\$10.50	\$54,505.50	\$11.00	\$57,101.00
202	Concrete Median Removed	291	SF	\$4.87	\$1,411.17	\$3.50	\$1,024.50	\$5.00	\$1,455.00	\$6.50	\$1,891.50	\$7.00	\$2,037.00
202	Pavement Removed (driveways)	1,165	SF	\$0.92	\$1,071.80	\$3.50	\$4,077.50	\$1.60	\$1,864.00	\$1.00	\$1,165.00	\$4.00	\$4,660.00
202	Retaining Wall Removed	2	EACH	\$1,214.42	\$2,428.84	\$600.00	\$1,200.00	\$184.00	\$368.00	\$925.00	\$1,850.00	\$1,155.00	\$2,310.00
202	Curb Inlet/C.B. Removed	7	EACH	\$253.90	\$1,777.30	\$200.00	\$1,400.00	\$223.00	\$1,561.00	\$275.00	\$1,925.00	\$430.00	\$3,010.00
202	Misc. Removal: Sign remove/reset	1	EACH	\$2,901.23	\$2,901.23	\$2,165.00	\$2,165.00	\$1,700.00	\$1,700.00	\$500.00	\$500.00	\$2,500.00	\$2,500.00
203	Excavation	7,025	CY	\$9.61	\$67,510.25	\$16.00	\$112,400.00	\$15.20	\$106,780.00	\$10.50	\$73,762.50	\$16.00	\$112,400.00
203	Embankment	6,389	CY	\$6.67	\$42,514.63	\$6.00	\$38,334.00	\$11.30	\$72,195.70	\$11.00	\$70,279.00	\$10.00	\$63,890.00
206	Lime Stabilized Subgrade (5% lime) #	14,000	SY	\$7.13	\$99,820.00	\$6.50	\$91,000.00	\$7.65	\$107,100.00	\$6.75	\$94,500.00	\$5.00	\$70,000.00
203	Excavation for Undercutting #	100	CY	\$14.00	\$1,400.00	\$14.00	\$1,400.00	\$32.38	\$3,238.00	\$20.00	\$2,000.00	\$22.00	\$2,200.00
203	Embankment for Undercutting #	100	CY	\$11.11	\$1,111.00	\$37.00	\$3,700.00	\$14.27	\$1,427.00	\$22.00	\$2,200.00	\$39.00	\$3,900.00
203	Geotextile Fabric #	14,000	SY	\$2.44	\$34,156.00	\$1.15	\$16,100.00	\$0.99	\$13,860.00	\$0.60	\$8,400.00	\$1.25	\$17,500.00
207	Temporary Filter Fabric Fence	7,800	FT	\$3.77	\$29,406.00	\$2.00	\$15,600.00	\$1.87	\$14,586.00	\$2.75	\$21,450.00	\$2.00	\$15,600.00
207	Inlet Protection	33	EACH	\$62.67	\$2,068.11	\$147.00	\$4,851.00	\$112.00	\$3,696.00	\$115.00	\$3,795.00	\$140.00	\$4,620.00
608	4" Concrete Walk	28,179	SF	\$4.42	\$124,551.18	\$3.85	\$108,489.15	\$5.16	\$145,403.64	\$3.75	\$105,671.25	\$4.50	\$126,803.50
608	Curb Ramp, Type A1	20	EACH	\$711.34	\$14,226.80	\$450.00	\$9,000.00	\$833.30	\$16,666.00	\$400.00	\$8,000.00	\$400.00	\$8,000.00
23	SPEC Tied Block Mat Channel Liner #	600	SF	\$8.74	\$5,244.00	\$9.00	\$5,400.00	\$12.68	\$7,608.00	\$18.00	\$10,800.00	\$5.00	\$3,000.00
24	SPEC Patching Concrete Surfaces, as per plan #	200	SF	\$12.23	\$2,446.00	\$8.00	\$1,600.00	\$76.95	\$15,390.00	\$6.75	\$1,350.00	\$92.00	\$18,400.00
25	SPEC Reinforced Modular Retaining Wall	335	SF	\$45.67	\$15,299.45	\$27.00	\$9,045.00	\$27.00	\$9,045.00	\$64.00	\$21,440.00	\$40.00	\$13,400.00
	Roadway Pavement												
204	Subgrade Compaction	14,301	SY	\$2.67	\$38,183.67	\$2.30	\$32,892.30	\$2.00	\$28,602.00	\$1.00	\$14,301.00	\$1.00	\$14,301.00
27	204 Proof Rolling	16	HOURL	\$258.60	\$4,137.60	\$92.00	\$1,472.00	\$185.00	\$2,960.00	\$110.00	\$1,760.00	\$75.00	\$1,200.00
28	301 Asphalt Concrete Base, PG64-22	2,053	CY	\$147.40	\$302,612.20	\$123.00	\$252,519.00	\$118.00	\$242,254.00	\$128.00	\$262,784.00	\$128.00	\$262,784.00
29	304 Aggregate Base	3,973	CY	\$40.32	\$160,191.36	\$35.00	\$139,055.00	\$44.00	\$174,812.00	\$40.00	\$158,920.00	\$37.00	\$147,003.00
30	Tack Coat	872	GAL	\$3.88	\$3,383.36	\$2.50	\$2,180.00	\$2.00	\$1,744.00	\$2.45	\$2,136.40	\$2.00	\$1,744.00
31	448 Asphalt Conc. Int. Course, Type 2, PG64-22	574	CY	\$168.09	\$96,483.66	\$140.00	\$80,360.00	\$130.00	\$74,620.00	\$130.00	\$74,620.00	\$136.00	\$78,064.00
32	448 Asphalt Conc. Surf. Course, Type 1, PG64-22	413	CY	\$213.35	\$88,113.55	\$178.00	\$73,514.00	\$165.00	\$68,145.00	\$165.00	\$68,145.00	\$164.00	\$67,732.00
33	609 Comb. Curb and Gutter, Type 2	7,930	FT	\$15.24	\$120,853.20	\$13.50	\$107,055.00	\$13.00	\$103,990.00	\$11.25	\$89,212.50	\$14.00	\$111,020.00
34	609 ODOT Curb Type 6	46	FT	\$15.52	\$713.92	\$25.50	\$1,173.00	\$22.00	\$1,012.00	\$18.00	\$828.00	\$37.00	\$1,702.00
35	609 Concrete Median	1,466	SF	\$5.82	\$8,532.12	\$8.50	\$12,461.00	\$12.00	\$17,592.00	\$6.50	\$9,529.00	\$9.00	\$13,194.00
	10 FT Trail Pavement												
204	Subgrade Compaction	2,438	SY	\$2.67	\$6,509.46	\$3.00	\$7,314.00	\$2.00	\$4,876.00	\$1.75	\$4,266.50	\$1.00	\$2,438.00
37	204 Proof Rolling	2	HOURL	\$258.60	\$517.20	\$92.00	\$184.00	\$185.00	\$370.00	\$110.00	\$220.00	\$75.00	\$150.00
38	304 Aggregate Base	406	CY	\$47.48	\$19,276.88	\$40.00	\$16,240.00	\$68.00	\$27,608.00	\$46.00	\$18,676.00	\$44.00	\$17,864.00
39	407 Tack Coat	183	GAL	\$3.88	\$710.04	\$3.00	\$549.00	\$2.00	\$366.00	\$2.45	\$448.35	\$2.00	\$366.00
40	448 Asphalt Conc. Int. Course, Type 2, PG64-22	119	CY	\$219.81	\$26,157.39	\$183.00	\$21,771.00	\$170.00	\$20,230.00	\$180.00	\$21,420.00	\$150.00	\$17,850.00
41	448 Asphalt Conc. Surf. Course, Type 1, PG64-22	85	CY	\$271.53	\$23,080.05	\$227.00	\$19,295.00	\$210.00	\$17,850.00	\$220.00	\$18,700.00	\$180.00	\$15,300.00
	Erosion Control												
601	Rock Channel Protection, Type C w/filter	45	CY	\$62.50	\$2,812.50	\$103.00	\$4,635.00	\$66.00	\$2,970.00	\$105.00	\$4,725.00	\$110.00	\$4,950.00
601	Rock Channel Protection, Type A w/filter	26	CY	\$72.37	\$1,881.62	\$108.00	\$2,808.00	\$71.00	\$1,846.00	\$80.00	\$2,080.00	\$120.00	\$3,120.00
659	Seeding and Mulching	12,003	SY	\$0.91	\$10,922.73	\$2.00	\$24,000.00	\$1.20	\$14,403.60	\$0.78	\$9,362.34	\$1.00	\$12,003.00
45	659 Repair Seeding and Mulching	4,500	SY	\$1.29	\$5,805.00	\$0.60	\$2,700.00	\$0.50	\$2,250.00	\$0.50	\$2,250.00	\$0.50	\$2,250.00
46	659 Commercial Fertilizer	2	TON	\$646.50	\$1,293.00	\$540.00	\$1,080.00	\$500.00	\$1,000.00	\$500.00	\$1,000.00	\$500.00	\$1,000.00
659	Water	80	M GAL	\$1.29	\$103.20	\$1.00	\$80.00	\$1.00	\$80.00	\$1.00	\$80.00	\$1.00	\$80.00
48	832 Erosion Control	5,000	EACH	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00
49	832 SWPP	1	LS	\$13,770.45	\$13,770.45	\$13,300.00	\$13,300.00	\$1,250.00	\$1,250.00	\$7,500.00	\$7,500.00	\$7,000.00	\$7,000.00

